= AH O
N = A& Al A
20ME T 20a LBGIH S2oF N ~ &2
SN C2oA D
HM: SRHAZL
Sl E2 e - X (e
_ _ boE ==
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
C2orE 16,821,341 8,334,442 8,486,899
= 2,091,780
z 354,000
< 187,769
Al 6,687,792
Xl 7,500,000
T4z 14,880,000 6,145,000 8,735,000
= 2,070,000
z 354,000
== 171,000
Al 4,785,000
Xl 7,500,000
2 e - 2H 7,200,000 2,100,000 5,100,000
Al 2,200,000
Xl 5,000,000
HE=SEZ L 3,000,000 700,000 2,300,000
Al 1,000,000
Xl 2,000,000
401 Al&HIZL =20 3,000,000 700,000 2,300,000
Al 1,000,000
Xl 2,000,000
01 Al&H] 2,785,800 695,590 2,090,210
SE2=SC2 e 2,785,800
Al 793,000
Xl 1,992,800
02 Zeldl 207,000 0 207,000
oOd=R=sc2 M4 207,000
03 AIEE20HI 7,200 4,410 2,790
oOgR=3E2 e 7,200
Xl 7,200
HEHAMECT HAZIHA 500,000 0 500,000
401 Al&HI L 20 500,000 0 500,000
01 Al&HI 496,400 0 496,400
OFFTIAMMEHR MAUZ L 496,400
03 AIEE20H 3,600 0 3,600
OFFAMMEX A2 KA 3,600
SEZ(N2EE~HLAIDX) & & 1,000,000 0 1,000,000
Xl 1,000,000
401 Al&H| L2 1,000,000 0 1,000,000
Xl 1,000,000
01 Al&H| 993,700 0 993,700
SEZ B 993,700
Xl 993,700
03 Al =E20HH| 6,300 0 6,300
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A
EE2AA AL
CHe|:

X ZH
o=

CZotd

T2 He =

SA-EH O (BH) - HBAY - B2 Ao dE = SmE=L
0 Ak 2

oRN=zZ =& 6,300
Xl 6,300

EYE %A =Y 700,000 0 700,000

401 AlEHIL 20| 700,000 0 700,000

01 Al&H] 695,590 0 695,590
OEHE YA &5 695,590

03 Al 20Hb] 4,410 0 4,410
osd=E xYH Y 4,410

EMF IC MYz & 2,000,000 500,000 1,500,000
Xl 2,000,000

401 AIEHIZ 20| 2,000,000 500,000 1,500,000
Xl 2,000,000

01 Al&H| 1,992,800 496,400 1,496,400
O=dzxF |C Az &F 1,992,800
Xl 1,992,800

03 Al 20HH] 7,200 3,600 3,600
O=¢dZF IC A=z =& 7.200
Xl 7,200

CUHM 232 KL 2,500,000 0 2,500,000
Xl 2,500,000

S22 2E0HMd 3= 4 2,500,000 0 2,500,000
Xl 2,500,000

401 AIEHIZ 20| 2,500,000 0 2,500,000
Xl 2,500,000

01 Al&H| 2,491,000 0 2,491,000
=23 =CUHM 3=z 4 2,491,000
Xl 2,491,000

03 Al 20Hb] 9,000 0 9,000
O=82d 2CUXM RIEZ HE 9,000
Xl 9,000

TZAAEZE FHHl ¥ 2l 2,808,000 589,000 2,219,000
= 1,500,000
= 354,000
Al 954,000

WEAND 82 MA 376,000 154,000 222,000
Z 188,000
Al 188,000

401 Al&EHIZ 204 376,000 154,000 222,000
= 188,000
Al 188,000

01 Al&H| 373,300 152,892 220,408
o/gE=z XA 373,300
& 188,000
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A EZorE D
HH: TAL27

el T2AIE=E 3l € 2 (etel: =3
SA - M. CHY (B HEAY . N2 A} OH HEE =}
SH M HA(FA) - HRAE - S = O] AFOH S5
Al 185,300
03 A&Z20HYI 2,700 1,108 1,592
OfIgEz XM 2,700
SOHHEXE HHIALY 500,000 200,000 300,000
401 Al&HI LSO 500,000 200,000 300,000
01 Al&H| 496,400 198,560 297,840
O ZCHLHE X B HHIALS 496,400
03 AIZ20ibl 3,600 1,440 2,160
OZ=CHHEXE HUIAZ 3,600
SRz 2l T4 1,500,000 0 1,500,000
= 1,500,000
401 AIEHIZ 208 1,500,000 0 1,500,000
= 1,500,000
01 Al£Hl 1,500,000 0 1,500,000
oOs8lz Bd&Ed X4 1,500,000
= 1,500,000
ted W WAL 100,000 0 100,000
401 Al&HIZL=RCHYI 100,000 0 100,000
01 Al&H| 99, 100 0 99, 100
OJt3w WwEEYI 99, 100
03 Al&=R0HHl 900 0 900
OJt3 W WA 900
wSAD #2 2 O 132,000 0 132,000
& 66,000
Al 66,000
401 Al&HI LS OHYI 132,000 0 132,000
= 66,000
Al 66,000
01 Al&H| 132,000 0 132,000
OusSAMD &2 2 M 132,000
= 66,000
Al 66,000
els6el 2duxzE &X 200,000 0 200,000
& 100,000
Al 100,000
401 AIEHIZ 208 200,000 0 200,000
= 100,000
Al 100,000
01 Al&H| 200,000 0 200,000
oo =6Hel MK ZE &X 200,000
= 100,000
Al 100,000
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SN TROED
HH: cRALHL
Ol CACR EEAE (el &2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
THER FCas 200,000 200,000 0
B ABXY L DEAD XY IH2S AL 100,000 100,000 0
401 AIEHIL2CH] 100,000 100,000 0
01 Al 99, 100 99, 100 0
OB QXS L DEAD XY IH2S
Als 99, 100
03 Al&=THHI 900 900 0
ORI QIXSY L DEAD THEXY IH2S
! 900
NBIRE L BHY ZEHA 100,000 100,000 0
401 AlEHIL2CH] 100,000 100,000 0
01 Al 99, 100 99, 100 0
ONBHAE L B ZEIHA 99, 100
03 Al&=CHYl 900 900 0
ONGHAE L B2 ZTIHA 900
CEHIN 1,000,000 1,000,000 0
LA OI2EX 242 1,000,000 1,000,000 0
401 AIZHIL 2O 1,000,000 1,000,000 0
01 Al 1,000,000 1,000,000 0
O28IA UIZ8X B43 1,000,000
REIA Olg 2 1,172,000 2,256,000 A1,084,000
2 570,000
= 171,000
Al 431,000
ME= UENED B3 2,000 1,000 1,000
203 PR =Y 2,000 1,000 1,000
03 AlMEZ L= 2,000 1,000 1,000
OCRoUH AREX 2,000
REACR W 1,140,000 2,190,000 ~1,050,000
2 570,000
= 71,000
Al 399,000
401 AIZHIL 2O 1,140,000 2,190,000 A1,050,000
2 570,000
= 171,000
Al 399,000
01 Al 1,137,000 2,182,120 ~1,045,120
OXEN T2 1,137,000
2 570,000
= 171,000
Al 396,000
03 Al&=CHHI 3,000 7,880 ~4,880
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SN

CZotd

HdM: CzAadae
celr REH 018 243 CHel M
SA - HEH l:|-0|(=|j;”) NEAY - HA2 Al OH &EIE =2}
SN H . C(SH) - MBAY - B S S Off Ak o4 =
OXNEAN E2HE 3,000
A=A N AHMEFHOIG XA 30,000 20,000 10,000
307 QI2t01A 30,000 20,000 10,000
02 B AEXR 30,000 20,000 10,000
OXNENHMEHT 2L 30,000
MEtTHO 22l MA 2= 356,497 409,599 253,102
= 21,780
= 16,769
Al 317,948
T oA 2t e| 90,256 142,219 A51,963
= 17,128
& 8,564
Al 64,564
MEHOPA FHUD R PN A A ALY 34,256 33,300 956
= 17,128
& 8,564
Al 8,564
101 Ql244| 11,520 11,200 320
= 5,760
& 2,880
Al 2,880
04 JI2ZtMIZ22XNsE 11,520 11,200 320
OO FHAUDP tMAS 11,520
= 5,760
= 2,880
Al 2,880
206 M=l 22,736 22,100 636
= 11,368
= 5,684
Al 5,684
01 M=l 22,736 22,100 636
OTHLHOIE FotIh7 otA2iA 22,736
= 11,368
= 5,684
Al 5,684
MerSetastal 29 36,000 36,480 A480
201 Ler243d| 36,000 36,480 A480
01 AtR2t2lH| 36,000 36,480 A480
O ESAEA & =X 36,000
Mg =& 10,000 15,000 25,000
201 Let23d| 10,000 15,000 25,000
03 A2 10,000 15,000 25,000
OTHEHEHl &M= S 10,000
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SA: CROE
Ha: Mo 2el M RS
CHol: DIute) 2re (B9 &)
o . - o PSR
CHE L HR(BA) - MBAY - BES Aboy e 2
KX SH SO0 H 19,000 19,000 0
MU ZS AN BE 19,000 19,000 0
OubIZEN SLXY 9,000
OXNSU A& AR 2| 10,000
REXIEHH S K2 0| & 60,000 50,000 10,000
MU ZSANAXZBE 60,000 50,000 10,000
OBYNH BANA S 60,000
208 243 X 98,238 98,233 0
YA 98,238 98,233 0
Zol2RQAPNS 98,233 98,233 0
o=3 97,5002 272 122 31,590
o5 A 5,000 %27 %212 » 122 34,020
oOnEY| 2,00021 27 +212 * 122 13,608
o=t 100,0002! %27 2,700
CES L 400,00021 +122 4,800
OFHBAZ 960,000 *122 11,520
S 30,574 26,713 3,861
= 4,223
= 7,905
Al 18,446
AP A2 28,774 23,917 4,857
=2 4,223
= 7,365
Al 17,186
SALAIH A 14,074 9,217 4,857
LRI SNANE H2ns N 12,270
= 3,681
= 2,577
Al 6,012
0PI LYY DS 1,804
= 542
= 378
Al 884
plI RN 14,700 14,700 0
ORIHSADE ADILA £ 14,700
= 4,410
Al 10,290
RHAEH SHI 1,800 2,79 £996
= 540
Al 1,260
U2 EH S| 1,800 2,79 199
OUYANSER IR 25 1,800
= 540
Al 1,260

- 230 -




S 20oHA L
82 o HH (TR OHE )
Jl2ddl(=zerE ) e M)
_ _ _ Muo
SNBSS - HRAY - BHES Aboy e HlnE2
HY2HZH(Z2HE D) 84,844 86,300 A 1,456
Jleddl (=2 et& 1) 84,844 86,300 A 1,456
Jl2ddl (=2 & 1) 84,844 86,300 A 1,456
201 LBt A 59,524 58, 100 1,424
01 AtE222|H] 38,960 43,100 24,140
O t=ZH| 18,800
o2g+d 2,380
O=&l 17,780
02 =234l 20,564 15,000 5,564
0332z ¥ 20,564
202 O4dl 21,120 24,000 A2,880
01 =LA b 21,120 24,000 A2,880
O=UWAYl 21,120
203 HRF&HI 4,200 4,200 0
04 EA2EHR 4,200 4,200 0
ORN2ZEY 350,000& x12& 4,200
2 THEE ol 1,500,000 1,693,543 A 193,543
HEHHXE (=2 A D) 1,500,000 1,693,543 A 193,543
Metztelda X 1,500,000 1,693,543 A 193,543
702 J12H8E3 1,500,000 1,693,543 A 193,543
01 JIS2dE=s 1,500,000 1,693,543 A 193,543
OMt2e I3 XA 1,500,000
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